ok L R L S

y/wy 88'6  ST:6Z:T0 /ﬁp 5
N

elydos ‘apaly 01/6€

YW 9’8 0Y:L1:20 b =

B.gf 1610/ 6/6€ w

Y/wy 1€'8  80'TH:10
elpne|) ‘Yoipny 8/6€

Energle

Thiiringer

Y/ €4°0T 656110
21N WY23.q|V L/6E

F adapoe

e.on

YW GT°0T  €T:8G°T0
unJep ‘wesjeg 9/6¢

35

E U/wx 69'8  8%'85:T0
2
ﬁ mcc<_:cmN_cm_>_m\mm

t: 16

Y Gy TT  ZSPETO
U3 ‘Bulyon v/6€

ufzei

y/wy y7°0T  2SPETO0
uuyiey ‘6syl £/6€

Y/wy Zy €T €€:8T°T0
pJeyuay ‘usddoT z/6€

18,8 km

Lateflour,

/95

u/w LSYT  $0:ZTiT0
pineq ‘623yL 1/6€

e 175 kM =

Renpsre




